V4

OK SERIES

Lifting Lug
GLP830
¥

Top & Bottom Set
OKKTB****

Rear Panel

RPE***\

Side Panel
DLK***

/

Frame Set - 4 pieces

Top & Bottom Set
OKKTB*** Window Door

DTE*™*

/ Plinth Sides
FLK**

e SAGINAW
s |(CONTROL &

=—==__ [ENGINEERING

Your Enclosure Source

Eyebolt
/G LF812-K4

Door
DBE***

Plinth Front / Rear
ZAK***



TABLE OF CONTENTS

1y i/

/7 |. EncLosure CoMPoONENTS

7 2. SuspLATE/GENERAL ACCESSORIES
7 3. Puny

7 4. Swine PaneL anp Rack Mount
7 5. INNer FraME anD Covers

/7 6. MounTinG PRoFILE

Z 1. Accessories AND HARDWARE

Y



1y

OKKTB

ZROOF AND BASE SET

APPLICATION

The roof and base set determine the width and depth of your enclosure. OKKTB parts in
combination with MTK parts makes a complete frame series.

CONSTRUCTION

e Carbon Steel

* Galvanized base frame with gland plates

* Galvanized top frame with powder coated cover

* 16 installation fasteners M8 x 16mm T30 Button Head Screw M8 x 16mm T30 Button Head
Screw M8 x 16mm T30 Button Head Screw

FINISH
RAL 7035 light gray, textured powder coat finish

Width x Depth (mm) [Part Number
600 x 400 OKKTB6040
600 x 600 OKKTB6060
600 x 800 OKKTB6080
800 x 400 OKKTB8040
800 x 600 OKKTB8060
800 x 800 OKKTB8080
1000 x 400 OKKTB1040
1000 x 600 OKKTB1060
1000 x 800 OKKTB1080
1200 x 400 OKKTB1240
1200 x 600 OKKTB1260
1200 x 800 OKKTB1280

Y o



https://www.saginawcontrol.com/partnumber_info/?n=OKKTB6040
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB6060
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB6080
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB8040
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB8060
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB8080
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB1040
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB1060
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB1080
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB1240
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB1260
https://www.saginawcontrol.com/partnumber_info/?n=OKKTB1280

1y

MTK
ZVERTICAL FRAME

APPLICATION

Vertical frames determine the height of your enclosure. MTK parts in combination with OKKTB
parts makes a complete frame series.

CONSTRUCTION

* Robust vertical structure rail
* Pre-punched holes on interior surfaces
* Uses M6 cage nuts and M5 self-threading screws

FINISH
Galvanized steel

Height (mm) Part Number
1800 MTK180-4
2000 MTK200-4
2200 MTK220-4

Y o


https://www.saginawcontrol.com/partnumber_info/?n=MTK180-4
https://www.saginawcontrol.com/partnumber_info/?n=MTK200-4
https://www.saginawcontrol.com/partnumber_info/?n=MTK220-4

1y

DBE
/DO0R

APPLICATION

DBE doors are used on the OK series. Part number includes 4 hinges, allowing 120° opening.
Doors are interchangable to swing open left or right. The two-component polyurethane
gasket is foamed on an external perimeter with respect to the locking system. DBE doors also
include a completely galvanised inner-stiffening frame.

CONSTRUCTION
e Carbon Steel Height x Width (mm) |Part Number
* Galvanized inner stiffener frame 1800 x 600 DBE186
* Door opens 120° 1800 x 800 DBE188
* Door interchangeable - right or left swing 1800 x 1000 DBE18A
* Pour-in-place oil & water resistant gasket 1800 x 1200 DBE18C
* 4-point latching mechanism 2000 x 600 DBE206
* 3mm double bit key entry 2000 x 800 DBE208
2000 x 1000 DBE20A
FINISH 2000 x 1200 DBE20C
RAL 7035 light gray, textured powder coat finish 2200 x 600 DBE226
2200 x 800 DBE228
2200 x 1000 DBE22A
2200 x 1200 DBE22C

Y v


https://www.saginawcontrol.com/partnumber_info/?n=DBE186
https://www.saginawcontrol.com/partnumber_info/?n=DBE188
https://www.saginawcontrol.com/partnumber_info/?n=DBE18A
https://www.saginawcontrol.com/partnumber_info/?n=DBE18C
https://www.saginawcontrol.com/partnumber_info/?n=DBE206
https://www.saginawcontrol.com/partnumber_info/?n=DBE208
https://www.saginawcontrol.com/partnumber_info/?n=DBE20A
https://www.saginawcontrol.com/partnumber_info/?n=DBE20C
https://www.saginawcontrol.com/partnumber_info/?n=DBE226
https://www.saginawcontrol.com/partnumber_info/?n=DBE228
https://www.saginawcontrol.com/partnumber_info/?n=DBE22A
https://www.saginawcontrol.com/partnumber_info/?n=DBE22C

1y

DTE
Z/WINDOW DOOR

APPLICATION

DTE doors feature an acrylic window for the OK series. Part number includes 4 hinges, allowing
120° opening. Doors are interchangable to swing open left or right. The two-component
polyurethane gasket is foamed on an external perimeter respect to the locking system. DBE
doors include a completely galvanised inner-stiffening frame.

CONSTRUCTION
e Carbon Steel Height x Width (mm) |Part Number
* Galvanized inner stiffener frame 1800 x 600 DTE186
* Door opens 120° 1800 x 800 DTE188
* Door interchangeable - right or left swing 1800 x 1000 DTE18A
* Pour-in-place oil & water resistant gasket 2000 x 600 DTE206
* 4-point latching mechanism 2000 x 800 DTE208
* 3mm double bit key entry 2000 x 1000 DTE20A
2200 x 600 DTE226
FINISH 2200 x 800 DTE228
RAL 7035 light gray, textured powder coat finish 2200 x 1000 DTE22A

Y v


https://www.saginawcontrol.com/partnumber_info/?n=DTE186
https://www.saginawcontrol.com/partnumber_info/?n=DTE188
https://www.saginawcontrol.com/partnumber_info/?n=DTE18A
https://www.saginawcontrol.com/partnumber_info/?n=DTE206
https://www.saginawcontrol.com/partnumber_info/?n=DTE208
https://www.saginawcontrol.com/partnumber_info/?n=DTE20A
https://www.saginawcontrol.com/partnumber_info/?n=DTE226
https://www.saginawcontrol.com/partnumber_info/?n=DTE228
https://www.saginawcontrol.com/partnumber_info/?n=DTE22A

1y

DLK
/7 SIDE EXTERIOR PANELS

APPLICATION
DLK side panels are supplied as a pair and include exterior panel mounting clips (CLKO13-KIT2F).

CONSTRUCTION

* Carbon Steel
* M6 ground stud top and bottom

* Pour-in-place oil & water resistant gasket
* Exterior Panel Mounting Clips CLKO13-KIT2F

FINISH
RAL 7035 light gray, textured powder coat finish

Height x Width (mm) |Part Number
1800 x 400 DLK184
1800 x 600 DLK186
1800 x 800 DLK188
2000 x 400 DLK204
2000 x 600 DLK206
2000 x 800 DLK208
2200 x 400 DLK224
2200 x 600 DLK226
2200 x 800 DLK228

Y o


https://www.saginawcontrol.com/partnumber_info/?n=DLK184
https://www.saginawcontrol.com/partnumber_info/?n=DLK186
https://www.saginawcontrol.com/partnumber_info/?n=DLK188
https://www.saginawcontrol.com/partnumber_info/?n=DLK204
https://www.saginawcontrol.com/partnumber_info/?n=DLK206
https://www.saginawcontrol.com/partnumber_info/?n=DLK208
https://www.saginawcontrol.com/partnumber_info/?n=DLK224
https://www.saginawcontrol.com/partnumber_info/?n=DLK226
https://www.saginawcontrol.com/partnumber_info/?n=DLK228

1y

RPE
/REAR EXTERIOR PANEL

APPLICATION
Rear panels include 8 fast-fixing clips (CLKO13)
CONSTRUCTION

* Carbon steel

* 8 fixing points to the frame

* Pour-in-place oil & water resistant gasket

* Exterior panel mounting clips CLKO13-KITR

FINISH
RAL 7035 light gray, textured powder coat finish

Height x Width (mm) |Part Number
1800 x 600 RPE186
1800 x 800 RPE188
1800 x 1000 RPE18A
1800 x 1200 RPE18C
2000 x 600 RPE206
2000 x 800 RPE208
2000 x 1000 RPE20A
2000 x 1200 RPE20C
2200 x 600 RPE226
2200 x 800 RPE228
2200 x 1000 RPE22A
2200 x 1200 RPE22C

Y v


https://www.saginawcontrol.com/partnumber_info/?n=RPE186
https://www.saginawcontrol.com/partnumber_info/?n=RPE188
https://www.saginawcontrol.com/partnumber_info/?n=RPE18A
https://www.saginawcontrol.com/partnumber_info/?n=RPE18C
https://www.saginawcontrol.com/partnumber_info/?n=RPE206
https://www.saginawcontrol.com/partnumber_info/?n=RPE208
https://www.saginawcontrol.com/partnumber_info/?n=RPE20A
https://www.saginawcontrol.com/partnumber_info/?n=RPE20C
https://www.saginawcontrol.com/partnumber_info/?n=RPE226
https://www.saginawcontrol.com/partnumber_info/?n=RPE228
https://www.saginawcontrol.com/partnumber_info/?n=RPE22A
https://www.saginawcontrol.com/partnumber_info/?n=RPE22C

1y

FPK
//SIDE DOOR

APPLICATION
Side doors for OK Series enclosures.

CONSTRUCTION

* Carbon steel

* Pour-in-place oil & water resistant gasket

* Part includes set of distance plates for hinges and gaskets and set of 180° hinges
FINISH

RAL 7035 light gray, textured powder coat finish

Height x Width (mm) |Part Number
1800 x 400 FPK184
1800 x 600 FPK186
1800 x 800 FPK188
2000 x 400 FPK204
2000 x 600 FPK206
2000 x 800 FPK208
2200 x 400 FPK224
2200 x 600 FPK226
2200 x 800 FPK228

Y v


https://www.saginawcontrol.com/partnumber_info/?n=FPK184
https://www.saginawcontrol.com/partnumber_info/?n=FPK186
https://www.saginawcontrol.com/partnumber_info/?n=FPK188
https://www.saginawcontrol.com/partnumber_info/?n=FPK204
https://www.saginawcontrol.com/partnumber_info/?n=FPK206
https://www.saginawcontrol.com/partnumber_info/?n=FPK208
https://www.saginawcontrol.com/partnumber_info/?n=FPK224
https://www.saginawcontrol.com/partnumber_info/?n=FPK226
https://www.saginawcontrol.com/partnumber_info/?n=FPK228

1y

GLF
JEYEBOLT

APPLICATION
Eyebolt for OK Series enclosures. Galvanized steel.

Part Number
GLF812-K4

GLP
ZLIFTING LUG BOLT-ON

APPLICATION
Lifting Lug Bolt-On for OK Series. Galvanized steel.

Part Number
GLP830

Y v


https://www.saginawcontrol.com/partnumber_info/?n=GLF812-K4
https://www.saginawcontrol.com/partnumber_info/?n=GLP830

1y

PNA
# SUBPLATE

APPLICATION
Subplates for OK Series enclosures.

CONSTRUCTION

* Galvanized steel
* Includes Subpanel Mounting Kit PPK100

FINISH
Galvanized Steel

Height x Width (mm) |Part Number
1600 x 600 PNA186
1800 x 800 PNA188
1800 x 1000 PNA18A
1800 x 1200 PNA18C
2000 x 600 PNA206
2000 x 800 PNA208
2000 x 1000 PNA20A
2000 x 1200 PNA20C
2200 x 600 PNA226
2200 x 800 PNA228
2200 x 1000 PNA22A
2200 x 1200 PNA22C

Y


https://www.saginawcontrol.com/partnumber_info/?n=PNA186
https://www.saginawcontrol.com/partnumber_info/?n=PNA188
https://www.saginawcontrol.com/partnumber_info/?n=PNA18A
https://www.saginawcontrol.com/partnumber_info/?n=PNA18C
https://www.saginawcontrol.com/partnumber_info/?n=PNA206
https://www.saginawcontrol.com/partnumber_info/?n=PNA208
https://www.saginawcontrol.com/partnumber_info/?n=PNA20A
https://www.saginawcontrol.com/partnumber_info/?n=PNA20C
https://www.saginawcontrol.com/partnumber_info/?n=PNA226
https://www.saginawcontrol.com/partnumber_info/?n=PNA228
https://www.saginawcontrol.com/partnumber_info/?n=PNA22A
https://www.saginawcontrol.com/partnumber_info/?n=PNA22C

1y

TTP
ZROOF PANEL FILLER PLATE

APPLICATION

The roof panel filler plate is fixed to the joints of the frame in order to cover the gap between
the top panels.

CONSTRUCTION

* Carbon Steel

FINISH

RAL 7035 light gray, textured powder coat finish
Width (mm) Part Number

400 TTP040

600 TTP0O60

800 TTPO80

Y v


https://www.saginawcontrol.com/partnumber_info/?n=TTP040
https://www.saginawcontrol.com/partnumber_info/?n=TTP060
https://www.saginawcontrol.com/partnumber_info/?n=TTP080

1y

FUP
/SUBPANEL FILLER PLATE

APPLICATION

The FUP Subpanel Filler Plate is fixed to PNA mounting plates with a set of screws. The plate
filler is supplied with holes for self-threading screws, frequently used for wiring ducts.

CONSTRUCTION

¢ Galvanized steel
* |Includes 6 screws M8x16 and 6 threaded inserts M8

FINISH
Galvanized steel

Width (mm) Part Number
1800 FUP188
2000 FUP208
2200 FUP228

Y


https://www.saginawcontrol.com/partnumber_info/?n=FUP188
https://www.saginawcontrol.com/partnumber_info/?n=FUP208
https://www.saginawcontrol.com/partnumber_info/?n=FUP228

1y

PFR
ZORIP SHIELD

APPLICATION
The PFR Drip Shield is installed atop the front of the enclosure’s door for additional protection
agaist rain.

CONSTRUCTION

* Carbon steel
* Includes gasket and fixing screws

FINISH
RAL 7035 light gray, textured powder coat finish

Width (mm) Part Number
600 PFR0O60
800 PFR0O80
1000 PFR100
1200 PFR120

Y


https://www.saginawcontrol.com/partnumber_info/?n=PFR060
https://www.saginawcontrol.com/partnumber_info/?n=PFR080
https://www.saginawcontrol.com/partnumber_info/?n=PFR100
https://www.saginawcontrol.com/partnumber_info/?n=PFR120

1y

SVUNK
ZVERTICAL INNER PARTITION

APPLICATION

The vertical inner partition separates two sections of the same enclosure.

CONSTRUCTION

¢ Galvanized steel

FINISH
Galvanized steel

Height x Depth (mm) |Part Number
1800 x 400 SVNK184
1800 x 600 SVNK186
1800 x 800 SVNK188
2000 x 400 SVNK204
2000 x 600 SVNK206
2000 x 800 SVNK208
2200 x 600 SVNK226
2200 x 800 SVNK228

Y v


https://www.saginawcontrol.com/partnumber_info/?n=SVNK184
https://www.saginawcontrol.com/partnumber_info/?n=SVNK186
https://www.saginawcontrol.com/partnumber_info/?n=SVNK188
https://www.saginawcontrol.com/partnumber_info/?n=SVNK204
https://www.saginawcontrol.com/partnumber_info/?n=SVNK206
https://www.saginawcontrol.com/partnumber_info/?n=SVNK208
https://www.saginawcontrol.com/partnumber_info/?n=SVNK226
https://www.saginawcontrol.com/partnumber_info/?n=SVNK228

1y

SOAK
ZHORIZONTAL INNER PARTITION

APPLICATION

The horizontal inner partition separates two sections of an enclosure and can be used as
horizontal support.

CONSTRUCTION

¢ Galvanized steel
* Screwed to the frame elements

FINISH
Galvanized steel

Width x Depth (mm) |Part Number
600 x 600 SOAK606
800 x 400 SOAK804
800 x 600 SOAK806
800 x 800 SOAK808
1200 x 800 SOAKI128

Y v


https://www.saginawcontrol.com/partnumber_info/?n=SOAK606
https://www.saginawcontrol.com/partnumber_info/?n=SOAK804
https://www.saginawcontrol.com/partnumber_info/?n=SOAK806
https://www.saginawcontrol.com/partnumber_info/?n=SOAK808
https://www.saginawcontrol.com/partnumber_info/?n=SOAK128

1y

LIP
ZINNER FOLDING DESK

APPLICATION

The LIP foldable desk is fixed to the door inner-stiffening frame by two corner brackets, and can
be adjusted by means of mechanical blocks. It can be folded flush to the door.

CONSTRUCTION

¢ Galvanized steel
* Includes desk, fixing brackets, desk blocks, and screws

FINISH
Galvanized steel

Width (mm) Part Number
600 LIP600
800 LIP8OO

*LIP-S: Two brackets left and right

Y v


https://www.saginawcontrol.com/partnumber_info/?n=LIP600
https://www.saginawcontrol.com/partnumber_info/?n=LIP800
https://www.saginawcontrol.com/partnumber_info/?n=LIP-S

1y

UTK
ZENCLOSURE BAYING KIT BRACKETS

APPLICATION

The baying kit bolt pack is a complete set of accessories for joining two enclosure series by their
sides and rear sides.

INCLUDES Part Number FINISH

* 12 screws fl. M8x16 hexagonal head UTK700 Zinc plated
* 24 screws TT Mé6x12 torx T30

* 24 cage nuts Mé

* 4 reinforcing corner brackets

* 2 inner fixing brackets

* 6 distance-keeper brackets

* 12 sagomated gasket

* 5m gasket

URR
Z/BAYING KIT FOR JOINING TWO BACK T0 BACK

APPLICATION

Kit for joining the back-to-back cabinets is a complete set of special accessories that allow
maintaining the internal protection (IP) level and stiffening the structures

INCLUDES Part Number FINISH

* 16 hexagonal head flanged screws URR700 Zinc plated
* 24 screws TT Méx12 torx print T30
* 28 cage nuts for external Mé

* 4 internal corner brackets

* 2 internal plates for rear fixing

* 8 outer spacer brackets

* 16 shaped gaskets

* 5m perimeter gasket per side

APK
ZHARDWARE KIT, RECESS MOUNTED SUBPANEL

APPLICATION

Kit to install the mounting plate at the rearmost position inside the enclosure, flush to the two
rear vertical elements of the frame

INCLUDES Part Number FINISH

* 2 upper fixing brackets APK10 Zinc plated
* 4 washers M8

* 2 screws Torx M8

* 2 nuts M8 DGM900 for external Mé

* 2 mounting plate sliders DGM800 M8

* 2 mounting plate sliders

* 2 fixing conic pins Mé

Y



https://www.saginawcontrol.com/partnumber_info/?n=UTK700
https://www.saginawcontrol.com/partnumber_info/?n=URR700
https://www.saginawcontrol.com/partnumber_info/?n=APK110

T i,
ZPLINTH BASE

APPLICATION

ZAK part numbers determine the width of your enclosure.
FLK part numbers determine the depth of your enclosure.
Together, FLK and ZAK parts make a complete plinth base.

ZAK INCLUDES ZAK PLINTH FRONT/REAR
° Front and rear plates Width (mm) Part Number
* Set of 4 corner pieces £ 1600 ZAKO61
7 SEEE T {800 ZAKOS]
FINISH £
. _ € 11000 ZAKOA1
RAL 7024 graphite gray, textured powder coat finish | o
2 11200 ZAKOCT
5600 ZAK062
()
L |800 ZAK082
€
€ 1000 ZAKOA2
o
& [1200 ZAKOC?2
FLK INCLUDES FLK PLINTH SIDES
e Side f|anges Depth (mm) Part Number
* screws % 400 FLK14
FINISH T
RAL 7024 graphite gray, textured powder coat finish £ 600 FLK16
S 800 FLK18
5400 FLK24
T
E 600 FLK26
o
S (800 FLK28

Y v


https://www.saginawcontrol.com/partnumber_info/?n=FLK14
https://www.saginawcontrol.com/partnumber_info/?n=FLK16
https://www.saginawcontrol.com/partnumber_info/?n=FLK18
https://www.saginawcontrol.com/partnumber_info/?n=FLK24
https://www.saginawcontrol.com/partnumber_info/?n=FLK26
https://www.saginawcontrol.com/partnumber_info/?n=FLK28
https://www.saginawcontrol.com/partnumber_info/?n=ZAK061
https://www.saginawcontrol.com/partnumber_info/?n=ZAK081
https://www.saginawcontrol.com/partnumber_info/?n=ZAK0A1
https://www.saginawcontrol.com/partnumber_info/?n=ZAK0C1
https://www.saginawcontrol.com/partnumber_info/?n=ZAK062
https://www.saginawcontrol.com/partnumber_info/?n=ZAK082
https://www.saginawcontrol.com/partnumber_info/?n=ZAK0A2
https://www.saginawcontrol.com/partnumber_info/?n=ZAK0C2

DB
ZINNER DOOR

APPLICATION

The inner doors used on OK Series enclosures are installed on an inner frame screwed to
the elements of the frame. The hinges allow an opening of 110°. The thickness of the door

and frame is 2.0 mm.
INCLUDES

* Inner door painted RAL 7035
textured finish

* Fixing frame painted RAL 7035
textured finish

* Hinges for inner door

* Screws and bolts

TRI
Z SWINGING 19” RACK FRAME

APPLICATION
Swinging 19” rack frame for OK Series

FINISH
Galvanized steel

STR

1y

Height x Width (mm)

Part Number

1800 x 600 DBI186
1800 x 800 DBI188
1800 x 1000 DBI18A
2000 x 600 DBI206
2000 x 800 DBI208
2000 x 1000 DBI20A
2000 x 1200 DBI20C
2200 x 600 DBI226
2200 x 800 DBI228
2200 x 1000 DBI22A
2200 x 1200 DBI22C

Height x Width (mm)

Part Number

1800 x 800 TRI188
2000 x 800 TRI208
2200 x 800 TRI228

ZHORIZONTAL RAILS FOR RACK FRAME

APPLICATION

The pair of fixed 19” rack uprights can be mounted on all OK series frames

INCLUDES

* 1 pair of vertical rack uprights 19"
* 4 fixing brackets

* 1 pair of upper and lower fixing
rails (for enclosures w>600 mm)

* Fixing screws

FINISH

Galvanized steel

Y v

Height x Width (mm)

Part Number

800 STR800-T
1000 STR1000-T
1800 STRI180K
2000 STR200K
2200 STR220K



https://www.saginawcontrol.com/partnumber_info/?n=DBI186
https://www.saginawcontrol.com/partnumber_info/?n=DBI188
https://www.saginawcontrol.com/partnumber_info/?n=DBI18A
https://www.saginawcontrol.com/partnumber_info/?n=DBI206
https://www.saginawcontrol.com/partnumber_info/?n=DBI208
https://www.saginawcontrol.com/partnumber_info/?n=DBI20A
https://www.saginawcontrol.com/partnumber_info/?n=DBI20C
https://www.saginawcontrol.com/partnumber_info/?n=DBI226
https://www.saginawcontrol.com/partnumber_info/?n=DBI228
https://www.saginawcontrol.com/partnumber_info/?n=DBI22A
https://www.saginawcontrol.com/partnumber_info/?n=DBI22C
https://www.saginawcontrol.com/partnumber_info/?n=TRI188
https://www.saginawcontrol.com/partnumber_info/?n=TRI208
https://www.saginawcontrol.com/partnumber_info/?n=TRI228
https://www.saginawcontrol.com/partnumber_info/?n=STR800-T
https://www.saginawcontrol.com/partnumber_info/?n=STR1000-T
https://www.saginawcontrol.com/partnumber_info/?n=STR180K
https://www.saginawcontrol.com/partnumber_info/?n=STR200K
https://www.saginawcontrol.com/partnumber_info/?n=STR220K

1y

TMK
ZINNER MOUNTING FRAME

APPLICATION

Inner mounting frames consists of 2 vertical uprights and 2 horizontal rails.

FINISH Height x Width (mm) | Part Number

Galvanized steel 1800 x 600 TMK186
1800 x 800 TMK188
2000 x 600 TMK206
2000 x 800 TMK208
2200 x 600 TMK226
2200 x 800 TMK228

CPK
#DOUBLE BLIND COVERS

APPLICATION

Screw covers are fixed to the inner modular frame (TMK) by 4 screws. Hinged covers are
installed on the modular frame on one side by two hinges and to the other side by two screws.
Hinged cover part numbers end with C.

FINISH Height x Width (mm) _ Part Number
RAL 7035 light gray, textured powder 400 x 600 CPK561
coat finish 400 x 600 CPK561C
400 x 800 CPK861
400 x 800 CPKB61C

CPT
ZTRIPLE BLIND COVERS

APPLICATION

Screw covers are fixed to the inner modular frame (TMK) by 4 screws. Hinged covers are
installed on the modular frame on one side by two hinges and to the other side by two screws.
Hinged cover part numbers end with C.

FINISH Height x Width (mm) |Part Number
RAL 7035 light gray, textured powder 600 x 600 CPT560
coat finish 600 x 600 CPT560C
600 x 800 CPT860
600 x 800 CPT860C

Y



https://www.saginawcontrol.com/partnumber_info/?n=TMK186
https://www.saginawcontrol.com/partnumber_info/?n=TMK188
https://www.saginawcontrol.com/partnumber_info/?n=TMK206
https://www.saginawcontrol.com/partnumber_info/?n=TMK208
https://www.saginawcontrol.com/partnumber_info/?n=TMK226
https://www.saginawcontrol.com/partnumber_info/?n=TMK228
https://www.saginawcontrol.com/partnumber_info/?n=CPK561
https://www.saginawcontrol.com/partnumber_info/?n=CPK561C
https://www.saginawcontrol.com/partnumber_info/?n=CPK861
https://www.saginawcontrol.com/partnumber_info/?n=CPK861C
https://www.saginawcontrol.com/partnumber_info/?n=CPT560
https://www.saginawcontrol.com/partnumber_info/?n=CPT560C
https://www.saginawcontrol.com/partnumber_info/?n=CPT860
https://www.saginawcontrol.com/partnumber_info/?n=CPT860C

1y

CPX
Z/MODULAR COVERS

APPLICATION

Screw covers are fixed to the inner modular frame (TMK) by 4 screws. Hinged covers are
installed on the modular frame on one side by two hinges and to the other side by two screws.
Hinged cover part numbers end with C.

FINISH
i Part Number |Descripti
RAL 7035 light gray, textured powder —————— U200 :
coat finish CPX5272 Screwed Double Blind Cover 67x67 Cutout 200x600mm

CPX5272C Hinged Cover w/Double 67x67 Cutout 200x600mm
CPX5296 Screwed Cover w/Double 92x92 Cutout 200x600mm
CPX5296C Hinged Cover w/Double 92x92 Cutout 200x600mm

CPX5472 Screwed Cover w/Four 67x67 Cutout 200x600mm
CPX5472C Hinged Cover w/Four 67x67 Cutout 200x600mm
CPX8272 Screwed Cover w/Double Cutout 200x800mm

CPX8272C Hinged Cover w/Double 67x67 Cutout 200x800mm
CPX8296 Screwed Cover w/Double 92x92 Cutout 200x800mm
CPX8296C Hinged Cover w/Double 92x92 Cutout 400x800mm
CPX8472 Screwed Cover w/Four 67x67 Cutout 200x800mm
CPX8472C Hinged Cover w/Four 67x67 Cutout 400x800mm
CPX8496 Screwed Cover w/Four 92x92 Cutout 200x800mm
CPX8496C Hinged Cover w/Four 92x92 Cutout 200x800mm

CPY
/BLIND COVERS

APPLICATION

Screw covers are fixed to the inner modular frame (TMK) by 4 screws. Hinged covers are
installed on the modular frame on one side by two hinges and to the other side by two screws.
Hinged cover part numbers end with C.

FINISH Height x Width (mm) |Part Number
RAL 7035 light gray, textured powder 200 x 600 CPY560
coat finish 200 x 600 CPY560C
200 x 800 CPY860
200 x 800 CPY860C

Y v


https://www.saginawcontrol.com/partnumber_info/?n=CPX5272
https://www.saginawcontrol.com/partnumber_info/?n=CPX5272C
https://www.saginawcontrol.com/partnumber_info/?n=CPX5296
https://www.saginawcontrol.com/partnumber_info/?n=CPX5296C
https://www.saginawcontrol.com/partnumber_info/?n=CPX5472
https://www.saginawcontrol.com/partnumber_info/?n=CPX5472C
https://www.saginawcontrol.com/partnumber_info/?n=CPX8272
https://www.saginawcontrol.com/partnumber_info/?n=CPX8272C
https://www.saginawcontrol.com/partnumber_info/?n=CPX8296
https://www.saginawcontrol.com/partnumber_info/?n=CPX8296C
https://www.saginawcontrol.com/partnumber_info/?n=CPX8472
https://www.saginawcontrol.com/partnumber_info/?n=CPX8472C
https://www.saginawcontrol.com/partnumber_info/?n=CPX8496
https://www.saginawcontrol.com/partnumber_info/?n=CPX8496C
https://www.saginawcontrol.com/partnumber_info/?n=CPY560
https://www.saginawcontrol.com/partnumber_info/?n=CPY560C
https://www.saginawcontrol.com/partnumber_info/?n=CPY860
https://www.saginawcontrol.com/partnumber_info/?n=CPY860C

1y

CPZ
#ZCOVERS WITH 47MM CUTOUT

APPLICATION

Screw covers are fixed to the inner modular frame (TMK) by 4 screws. Hinged covers are
installed on the modular frame on one side by two hinges and to the other side by two screws.
Hinged cover part numbers end with C.

FINISH Height x Width (mm) |Part Number

RAL 7035 light gray, textured powder 200 x 600 CPZ5422

coat finish 200 x 600 CPZ5422C
200 x 800 CPZ8422
200 x 800 CPZ8422C

PPC
ZCOMPENSATION PANELS

APPLICATION
Compensation panels for OK Series enclosures.

FINISH Height x Width (mm) |Part Number
Galvanized steel 50 x 600 PPC560
50 x 800 PPC860

CPR
#ZADJUSTABLE MODULAR MOUNTING PLATES

APPLICATION
Adjustable mounting plates for OK Series enclosures.

FINISH Height x Width (mm) |Part Number

Galvanized steel 200 x 600 CPR602
300 x 600 CPR603
400 x 600 CPR604
500 x 600 CPR605
600 x 600 CPR606
200 x 800 CPR802
300 x 600 CPR803
400 x 800 CPR804
500 x 800 CPR805
600 x 800 CPR806

Y v


https://www.saginawcontrol.com/partnumber_info/?n=PPC560
https://www.saginawcontrol.com/partnumber_info/?n=PPC860
https://www.saginawcontrol.com/partnumber_info/?n=CPR602
https://www.saginawcontrol.com/partnumber_info/?n=CPR603
https://www.saginawcontrol.com/partnumber_info/?n=CPR604
https://www.saginawcontrol.com/partnumber_info/?n=CPR605
https://www.saginawcontrol.com/partnumber_info/?n=CPR606
https://www.saginawcontrol.com/partnumber_info/?n=CPR802
https://www.saginawcontrol.com/partnumber_info/?n=CPR803
https://www.saginawcontrol.com/partnumber_info/?n=CPR804
https://www.saginawcontrol.com/partnumber_info/?n=CPR805
https://www.saginawcontrol.com/partnumber_info/?n=CPR806
https://www.saginawcontrol.com/partnumber_info/?n=CPZ5422
https://www.saginawcontrol.com/partnumber_info/?n=CPZ5422C
https://www.saginawcontrol.com/partnumber_info/?n=CPZ8422
https://www.saginawcontrol.com/partnumber_info/?n=CPZ8422C

1y

MTK
ZDIN RAIL SUPPORT
APPLICATION
DIN Rail support brackets for OK Series enclosures.
FINISH Width (mm) Part Number
Zinc plated 600 MTKé600
800 MTK800
CPP
ZDIN RAIL
APPLICATION
DIN Rails for OK Series enclosures.
FINISH Width (mm) Part Number
Zinc plated 170 CPP344
270 CPP444
370 CPP544
490 CPP644
690 CPP844

Y v


https://www.saginawcontrol.com/partnumber_info/?n=CPP344
https://www.saginawcontrol.com/partnumber_info/?n=CPP444
https://www.saginawcontrol.com/partnumber_info/?n=CPP544
https://www.saginawcontrol.com/partnumber_info/?n=CPP644
https://www.saginawcontrol.com/partnumber_info/?n=CPP844
https://www.saginawcontrol.com/partnumber_info/?n=MTK600
https://www.saginawcontrol.com/partnumber_info/?n=MTK800

1y

STK
ZFLANGED MOUNTING PROFILE, | LINE

APPLICATION
Flanged mounting profile, 1 line

FINISH Height x Width (mm) |Part Number
Galvanized steel 400 x 45 STK445
600 x 45 STK645
800 x 45 STK845
1000 x 45 STKAA45

DTK
ZFLANGED MOUNTING PROFILE, 2 LINES

APPLICATION

Flanged mounting profile, 2 lines

FINISH Height x Width (mm) |Part Number

Galvanized steel 400 x 100 DTK470
600 x 100 DTKé670
800 x 100 DTK870
1000 x 100 DTKA70

TTK
ZFLANGED MOUNTING PROFILE, 3 LINES

APPLICATION
Flanged mounting profile, 3 lines
FINISH Height x Width (mm) |Part Number
Galvanized steel 400 x 100 TTK410
600 x 100 TTK610
800 x 100 TTK810
1000 x 100 TTKA10

Y v


https://www.saginawcontrol.com/partnumber_info/?n=TTK410
https://www.saginawcontrol.com/partnumber_info/?n=TTK610
https://www.saginawcontrol.com/partnumber_info/?n=TTK810
https://www.saginawcontrol.com/partnumber_info/?n=TTKA10
https://www.saginawcontrol.com/partnumber_info/?n=STK445
https://www.saginawcontrol.com/partnumber_info/?n=STK645
https://www.saginawcontrol.com/partnumber_info/?n=STK845
https://www.saginawcontrol.com/partnumber_info/?n=STKA45
https://www.saginawcontrol.com/partnumber_info/?n=DTK470
https://www.saginawcontrol.com/partnumber_info/?n=DTK670
https://www.saginawcontrol.com/partnumber_info/?n=DTK870
https://www.saginawcontrol.com/partnumber_info/?n=DTKA70

1y

SCK
#CLOSED-END MOUNTING PROFILE, | LINE

APPLICATION
Closed-end mounting profiles, 1 line

FINISH Width (mm) Part Number
Galvanized steel 400 x 45 SCK407
600 x 45 SCK607
800 x 45 SCK807
1000 x 45 SCKAO07
1200 x 45 SCKCO07

DCK
ZCLOSED-END MOUNTING PROFILE, 2 LINES

APPLICATION
Closed-end mounting profile, 2 lines

FINISH Height x Width (mm) |Part Number

Galvanized steel 400 x 70 DCK407
600 x 70 DCK607
800 x 70 DCK807
1000 x 70 DCKAQ7
1200 x 70 DCKCO07

TCK
ZCLOSED-END MOUNTING PROFILE, 3 LINES

APPLICATION
Closed-end mounting profile, 3 lines

FINISH Height x Width (mm) |Part Number
Galvanized steel 600 x 100 TCK601
800 x 100 TCK801
1000 x 100 TCKAO1
1200 x 100 TCKCO01

Y v


https://www.saginawcontrol.com/partnumber_info/?n=SCK407
https://www.saginawcontrol.com/partnumber_info/?n=SCK607
https://www.saginawcontrol.com/partnumber_info/?n=SCK807
https://www.saginawcontrol.com/partnumber_info/?n=SCKA07
https://www.saginawcontrol.com/partnumber_info/?n=SCKC07
https://www.saginawcontrol.com/partnumber_info/?n=DCK407
https://www.saginawcontrol.com/partnumber_info/?n=DCK607
https://www.saginawcontrol.com/partnumber_info/?n=DCK807
https://www.saginawcontrol.com/partnumber_info/?n=DCKA07
https://www.saginawcontrol.com/partnumber_info/?n=DCKC07
https://www.saginawcontrol.com/partnumber_info/?n=TCK601
https://www.saginawcontrol.com/partnumber_info/?n=TCK801
https://www.saginawcontrol.com/partnumber_info/?n=TCKA01
https://www.saginawcontrol.com/partnumber_info/?n=TCKC01

# 0K SERIES ACCESSORIES

Y v

Part Number Description

BCK100-M Door Block Kit

BCO110-M Door Stop Kit 90 - 120 Degree

BCO170-M Door Stop Kit

CLKO13-KIT2F Mounting clips M6 Hex Nut (Pkg. 12)

CPS5846 Angular Bracket For SGD Bracket

CSTK70 Folding Desk, 539 x 352mm w/Hardware

LIP-S Two Brackets L and R Lip Mount -Inner folding Desk
MIC250 Switch - Door Switch

MIC250-S Door Switch Bracket

PPK100 Subpanel Mounting Hardware Kit

PTR600P Transformer Support for 600 mm

PTR80OP Transformer Support w/Threaded Inserts 800mm(2Pcs)
SGD060 DIN RAIL Support Bracket 60 mm

SGD150 DIN RAIL Support Bracket 150 mm

SGK060 DIN RAIL Regulation Bracket 60 mm

SGKi150 DIN RAIL Regulation Bracket 150 mm

SRR773B Enclosure Latch Handle, Foldaway



https://www.saginawcontrol.com/partnumber_info/?n=BCK100-M
https://www.saginawcontrol.com/partnumber_info/?n=BCO110-M
https://www.saginawcontrol.com/partnumber_info/?n=BCO170-M
https://www.saginawcontrol.com/partnumber_info/?n=CLK013-KIT2F
https://www.saginawcontrol.com/partnumber_info/?n=CPS5846
https://www.saginawcontrol.com/partnumber_info/?n=CSTK70
https://www.saginawcontrol.com/partnumber_info/?n=LIP-S
https://www.saginawcontrol.com/partnumber_info/?n=MIC250
https://www.saginawcontrol.com/partnumber_info/?n=MIC250-S
https://www.saginawcontrol.com/partnumber_info/?n=PPK100
https://www.saginawcontrol.com/partnumber_info/?n=PTR600P
https://www.saginawcontrol.com/partnumber_info/?n=PTR800P
https://www.saginawcontrol.com/partnumber_info/?n=SGD060
https://www.saginawcontrol.com/partnumber_info/?n=SGD150
https://www.saginawcontrol.com/partnumber_info/?n=SGK060
https://www.saginawcontrol.com/partnumber_info/?n=SGK150
https://www.saginawcontrol.com/partnumber_info/?n=SRR773B

COMPONENTS

0y

Enclosure Size Primary Enclosure Components
Height Width Depth Frarne Roof and Door Window | Side Exterior | Rear Exterior Side Door
(mm) Upright Base Set (DBE) Door Panel Panel (FPK)
(MTK) (OKKTB) (DTE) (DLK) (RPE)
1800 x 600 x 400 MTK180-4 |OKKTB6040 |DBE186 DTE186 DLK184 RPE186 FPK184
1800 x 600 x 600 MTK180-4 |OKKTB6060 |DBE186 DTE186 DLK186 RPE186 FPK186
1800 x 600 x 800 MTK180-4 |OKKTB6080 |DBE186 DTE186 DLK188 RPE186 FPK188
1800 x 800 x 400 MTK180-4 |OKKTB8040 |DBE188 DTE188 DLK184 RPE188 FPK184
1800 x 800 x 600 MTK180-4 |OKKTB8060 |DBE188 DTE188 DLK186 RPE188 FPK186
1800 x 800 x 800 MTK180-4 |OKKTB8080 |DBE188 DTE188 DLK188 RPE188 FPK188
1800 x 1000 x 400 MTK180-4 |OKKTB1040 DBE18A DTE18A DLK184 RPE18A FPK184
1800 x 1000 x 600 MTK180-4 |OKKTB1060 DBE18A DTE18A DLK186 RPE18A FPK186
1800 x 1000 x 800 MTK180-4 |OKKTB1080 DBE18A DTE18A DLK188 RPE18A FPK188
1800 x 1200 x 400 MTK180-4 |OKKTB1240 DBE18C DTE18C DLK184 RPE18C FPK184
1800 x 1200 x 600 MTK180-4 |OKKTB1260 DBE18C DTE18C DLK186 RPE18C FPK186
1800 x 1200 x 800 MTK180-4 |OKKTB1280 DBE18C DTE18C DLK188 RPE18C FPK188
2000 x 600 x 400 MTK200-4 |OKKTB6040 |DBE206 DTE206 DLK204 RPE206 FPK204
2000 x 600 x 600 MTK200-4 |OKKTB6060 |DBE206 DTE206 DLK206 RPE206 FPK206
2000 x 600 x 800 MTK200-4 |OKKTB6080 |DBE206 DTE206 DLK208 RPE206 FPK208
2000 x 800 x 400 MTK200-4 |OKKTB8040 |DBE208 DTE208 DLK204 RPE208 FPK204
2000 x 800 x 600 MTK200-4 |OKKTB8060 |DBE208 DTE208 DLK206 RPE208 FPK206
2000 x 800 x 800 MTK200-4 |OKKTB8080O |DBE208 DTE208 DLK208 RPE208 FPK208
2000 x 1000 x 400 MTK200-4 |OKKTB1040 DBE20A DTE20A DLK204 RPE20A FPK204
2000 x 1000 x 600 MTK200-4 |OKKTB1060 DBE20A DTE20A DLK206 RPE20A FPK206
2000 x 1000 x 800 MTK200-4 |OKKTB1080 |DBE20A DTE20A DLK208 RPE20A FPK208
2000 x 1200 x 400 MTK200-4 |OKKTB1240 DBE20C DTE20C DLK204 RPE20C FPK204
2000 x 1200 x 600 MTK200-4 |OKKTB1260 DBE20C DTE20C DLK206 RPE20C FPK206
2000 x 1200 x 800 MTK200-4 |OKKTB1280 DBE20C DTE20C DLK208 RPE20C FPK208
2200 x 600 x 400 MTK220-4 |OKKTB6040 |DBE226 DTE226 DLK224 RPE226 FPK224
2200 x 600 x 600 MTK220-4 |OKKTB6060 |DBE226 DTE226 DLK226 RPE226 FPK226
2200 x 600 x 800 MTK220-4 |OKKTB6080 |DBE226 DTE226 DLK228 RPE226 FPK228
2200 x 800 x 400 MTK220-4 |OKKTB8040 |DBE228 DTE228 DLK224 RPE228 FPK224
2200 x 800 x 600 MTK220-4 |OKKTB8060 |DBE228 DTE228 DLK226 RPE228 FPK226
2200 x 800 x 800 MTK220-4 |OKKTB8080 |DBE228 DTE228 DLK228 RPE228 FPK228
2200 x 1000 x 400 MTK220-4 | OKKTB1040 DBE22A DTE22A DLK224 RPE22A FPK224
2200 x 1000 x 600 MTK220-4 |OKKTB1060 DBE22A DTE22A DLK226 RPE22A FPK226
2200 x 1000 x 800 MTK220-4 |OKKTB1080 DBE22A DTE22A DLK228 RPE22A FPK228
2200 x 1200 x 400 MTK220-4 |OKKTB1240 DBE22C DTE22C DLK224 RPE22C FPK224
2200 x 1200 x 600 MTK220-4 |OKKTB1260 DBE22C DTE22C DLK226 RPE22C FPK226
2200 x 1200 x 800 MTK220-4 |OKKTB1280 DBE22C DTE22C DLK228 RPE22C FPK228
(GLF) Eyebolt - GLF812-K4

(GLP) Lifting Lug Bolt-On - GLP830

Y v



SUBPLATE GENERAL ACGESSORIES

i i e

Enclosure Size Subplate
SVNK SOAK
Height Width Depth (PNA) ST R.OOf (F.UP) (PFR) Drip i/ertica)l H(orizont)al e I.nner
(mm) Subplate Fare, Aller Fliz Shied Inner Inner folding
Plate Plate . . Desk
Partition Partition
1800 x 600 x 400 PNA186 TTPO40 FUP188 PFRO60 SVNK184 N/A LIP600
1800 x 600 x 600 PNA186 TTPO60 FUP188 PFRO60 SVNK186 SOAK606 LIP600
1800 x 600 x 800 PNA186 TTPO80 FUP188 PFRO60 SVNK188 N/A LIP600
1800 x 800 x 400 PNA188 TTPO40 FUP188 PFRO80 SVNK184 SOAK804 LIP8OO
1800 x 800 x 600 PNA188 TTPO60 FUP188 PFRO80 SVNK186 SOAK806 LIP8OO
1800 x 800 x 800 PNA188 TTPO8O FUP188 PFRO80 SVNK188 SOAKS808 LIP8OO
1800 x 1000 x 400 PNA18A TTPO40 FUP188 PFR100 SVNK184 N/A N/A
1800 x 1000 x 600 PNA18A TTPO60 FUP188 PFR100 SVNK186 N/A N/A
1800 x 1000 x 800 PNA18A TTPO80 FUP188 PFR100 SVNK188 N/A N/A
1800 x 1200 x 400 PNA18C TTPO40 FUP188 PFR120 SVNK184 N/A N/A
1800 x 1200 x 600 PNA18C TTPO60 FUP188 PFR120 SVNK186 N/A N/A
1800 x 1200 x 800 PNA18C |TTPO80 FUP188 PFR120 SVNK188 N/A N/A
2000 x 600 x 400 PNA206 |TTP040 FUP208 PFR0O60 SVNK204 N/A LIP600
2000 x 600 x 600 PNA206 |TTPO60 FUP208 PFR0O60 SVNK206 SOAK606 LIP600
2000 x 600 x 800 PNA206 |TTPO80 FUP208 PFR0O60 SVNK208 N/A LIP600
2000 x 800 x 400 PNA208 |TTP040 FUP208 PFRO80 SVNK204 SOAK804 LIP80OO
2000 x 800 x 600 PNA208 |TTP0O60 FUP208 PFRO80 SVNK206 SOAK806 LIP8OO
2000 x 800 x 800 PNA208 |TTP0O80 FUP208 PFRO80 SVNK208 SOAKS808 LIP80OO
2000 x 1000 x 400 PNA20A |TTP040 FUP208 PFR100 SVNK204 N/A N/A
2000 x 1000 x 600 PNA20A |TTPO60 FUP208 PFR100 SVNK206 N/A N/A
2000 x 1000 x 800 PNA20A |TTPO80 FUP208 PFR100 SVNK208 N/A N/A
2000 x 1200 x 400 PNA20C |TTP0O40 FUP208 PFR120 SVNK204 N/A N/A
2000 x 1200 x 600 PNA20C |TTP0O60 FUP208 PFR120 SVNK206 N/A N/A
2000 x 1200 x 800 PNA20C |TTP0O80 FUP208 PFR120 SVNK208 N/A N/A
2200 x 600 x 400 PNA226 TTPO40 FUP228 PFRO60 N/A N/A LIP600
2200 x 600 x 600 PNA226 TTPO60 FUP228 PFRO60 SVNK226 SOAK606 LIP600
2200 x 600 x 800 PNA226 TTPO80 FUP228 PFRO60 SVNK228 N/A LIP600
2200 x 800 x 400 PNA228 TTPO40 FUP228 PFRO80 N/A SOAK804 LIP8OO
2200 x 800 x 600 PNA228 | TTP060 FUP228 PFRO80 SVNK226 SOAK806 LIP8OO
2200 x 800 x 800 PNA228 |TTP0O80 FUP228 PFRO80 SVNK228 SOAKS808 LIP8OO
2200 x 1000 x 400 PNA22A | TTP040 FUP228 PFR100 N/A N/A LIP8OO
2200 x 1000 x 600 PNA22A | TTP060 FUP228 PFR100 SVNK226 N/A N/A
2200 x 1000 x 800 PNA22A | TTP0O80 FUP228 PFR100 SVNK228 N/A N/A
2200 x 1200 x 400 PNA22C |TTP040 FUP228 PFR120 N/A N/A N/A
2200 x 1200 x 600 PNA22C | TTP0O60 FUP228 PFR120 SVNK226 N/A N/A
2200 x 1200 x 800 PNA22C |TTP0O80 FUP228 PFR120 SVNK228 N/A N/A
(UTK) Enclosure Baying Kit Brackets - UTK700

(URR) Baying Kit for Joining Two Back to Back - UTK700
(APK) Hardware Kit, Recess Mounted Subpanel - APK110

Y



SWING PLINTH

N i i

Enclosure Size Plinth Two Parts Required
AR Bt || (AL Ehdy | A itn | AL (A0 P
(mm) Side 200 H Front Rear | Plinth Side | Front Rear
200 H 100 H 100 H
1800 x 600 x 400 FLK24 ZAK062 FLK14 ZAKO61
1800 x 600 x 600 FLK26 ZAK062 FLK16 ZAKO061
1800 x 600 x 800 FLK28 ZAK062 FLK18 ZAKO61
1800 x 800 x 400 FLK24 ZAK082 FLK14 ZAKO081
1800 x 800 x 600 FLK26 ZAK082 FLK16 ZAKO081
1800 x 800 x 800 FLK28 ZAK082 FLK18 ZAKO081
1800 x 1000 x 400 FLK24 ZAKOA2 FLK14 ZAKOAT
1800 x 1000 x 600 FLK26 ZAKOA2 FLK16 ZAKOAT1
1800 x 1000 x 800 FLK28 ZAKOA2 FLK18 ZAKOA1
1800 x 1200 x 400 FLK24 ZAKOC2 FLK14 ZAKOC1
1800 x 1200 x 600 FLK26 ZAKOC2 FLK16 ZAKOCI1
1800 x 1200 x 800 FLK28 ZAKOC2 FLK18 ZAKOC1
2000 x 600 x 400 FLK24 ZAK062 FLK14 ZAKO61
2000 x 600 x 600 FLK26 ZAK062 FLK16 ZAKO61
2000 x 600 x 800 FLK28 ZAK062 FLK18 ZAKO61
2000 x 800 x 400 FLK24 ZAK082 FLK14 ZAKO81
2000 x 800 x 600 FLK26 ZAK082 FLK16 ZAKO81
2000 x 800 x 800 FLK28 ZAK082 FLK18 ZAKO081
2000 x 1000 x 400 FLK24 ZAKOA2 FLK14 ZAKOA1
2000 x 1000 x 600 FLK26 ZAKOA2 FLK16 ZAKOA1
2000 x 1000 x 800 FLK28 ZAKOA2 FLK18 ZAKOAT1
2000 x 1200 x 400 FLK24 ZAKOC2 FLK14 ZAKOCT
2000 x 1200 x 600 FLK26 ZAKOC2 FLK16 ZAKOCT
2000 x 1200 x 800 FLK28 ZAKOC2 FLK18 ZAKOCT
2200 x 600 x 400 FLK24 ZAK062 FLK14 ZAKO061
2200 x 600 x 600 FLK26 ZAK062 FLK16 ZAKO061
2200 x 600 x 800 FLK28 ZAK062 FLK18 ZAKO61
2200 x 800 x 400 FLK24 ZAK082 FLK14 ZAKO081
2200 x 800 x 600 FLK26 ZAK082 FLK16 ZAKO81
2200 x 800 x 800 FLK28 ZAK082 FLK18 ZAKO081
2200 x 1000 x 400 FLK24 ZAKOA2 FLK14 ZAKOAT
2200 x 1000 x 600 FLK26 ZAKOA2 FLK16 ZAKOA1
2200 x 1000 x 800 FLK28 ZAKOA2 FLK18 ZAKOA1
2200 x 1200 x 400 FLK24 ZAKOC2 FLK14 ZAKOC1
2200 x 1200 x 600 FLK26 ZAKOC2 FLK16 ZAKOC1
2200 x 1200 x 800 FLK28 ZAKOC2 FLK18 ZAKOC1




SWING PANEL AND RACK MOUNT

i i

Enclosure Size Swing Panel and Rack Mount
. . DBI) Swin (TRI) Swingin (STR) Fixed | (STR) Hotizontal
Height \(N'dth Bepts ( Pan)el Kitg 19" Raci ° Upright 19" Rail)s for Rack
mm) Inner Door Frame Rack Frame > 600mm
1800 x 600 x 400 DBI186 N/A STR180K N/A
1800 x 600 x 600 DBI186 N/A STR180K N/A
1800 x 600 x 800 DBI186 N/A STR180K N/A
1800 x 800 x 400 DBI188 TRI188 STR180K STR800-T
1800 x 800 x 600 DBI188 TRI88 STR180K STR800-T
1800 x 800 x 800 DBI188 TRI188 STR180K STR800-T
1800 x 1000 x 400 N/A N/A N/A N/A
1800 x 1000 x 600 N/A N/A N/A N/A
1800 x 1000 x 800 N/A N/A N/A N/A
1800 x 1200 x 400 N/A N/A N/A N/A
1800 x 1200 x 600 N/A N/A N/A N/A
1800 x 1200 x 800 N/A N/A N/A N/A
2000 x 600 x 400 DBI206 N/A STR200K N/A
2000 x 600 x 600 DBI206 N/A STR200K N/A
2000 x 600 x 800 DBI206 N/A STR200K N/A
2000 x 800 x 400 DBI208 TRI208 STR200K STR800-T
2000 x 800 x 600 DBI208 TRI208 STR200K STR800-T
2000 x 800 x 800 DBI208 TRI208 STR200K STR800-T
2000 x 1000 x 400 DBI20A N/A N/A N/A
2000 x 1000 x 600 DBI20A N/A N/A N/A
2000 x 1000 x 800 DBI20A N/A N/A N/A
2000 x 1200 x 400 N/A N/A N/A N/A
2000 x 1200 x 600 N/A N/A N/A N/A
2000 x 1200 x 800 N/A N/A N/A N/A
2200 x 600 x 400 DBI226 N/A STR220K N/A
2200 x 600 x 600 DBI226 N/A STR220K N/A
2200 x 600 x 800 DBI226 N/A STR220K N/A
2200 x 800 x 400 DBI228 TRI228 STR220K STR800-T
2200 x 800 x 600 DBI228 TRI228 STR220K STR800-T
2200 x 800 x 800 DBI228 TRI228 STR220K STR800-T
2200 x 1000 x 400 DBI22A N/A N/A N/A
2200 x 1000 x 600 DBI22A N/A N/A N/A
2200 x 1000 x 800 DBI22A N/A N/A N/A
2200 x 1200 x 400 N/A N/A N/A N/A
2200 x 1200 x 600 N/A N/A N/A N/A
2200 x 1200 x 800 N/A N/A N/A N/A

Y



SWING PANEL AND RACK MOUNT

1y L

1800 x 600 | 1800 x 800 | 2000 x 600 | 2000 x 800 | 2200 x 600 | 2200 x 800
(FTrz/'rfe) Inner Modular 1y, 104 TMKI88 TMK206 TMK208 TMK226 TMK228
(CPK) Hinged Double 1 ~pysiic (cPK86IC  |CPKB6IC | CPK86IC CPK561C  |CPK86IC
Blind Cover
(CPK) Screwed Double |~ e 4 CPK861 CPK561 CPK861 CPK561 CPK861
Blind Cover
;ﬁ:g)g!’v‘ffd ligle CPT560C  |CPT860C  |CPT560C  |CPT860C  |CPT560C  |CPT860C
(CPT) Screwed Triple CPT560 CPT860 CPT560 CPT860 CPT560 CPT860
Blind Cover
(CPx) Hinged Cover
e nged Cover . |CPx5272C  |CPx8272C  |CPx5272C  |CPy8272C  |CPx5272C | CPx8272C
(CPx) Screwed Cover
(D) Sorewed sover . |cPxs2r2 CPx8272 CPx5272 CPx8272 CPx5272 CPx8272
(CPx) Serewed Coverwid|-p /0 CPx8472 CPx5472 CPx8472 CPx5472 CPx8472
67x67 Cutout
(CPx) Hinged Cover CPx5472C  |CPx8472C  |CPx5472C  |CPx8472C  |CPx5472C  |CPx8472C
w/4 67 x 67 Cutout
(CPx) Screwed Cover
(o) Serened e | CP¥5296 CPx8296 CPx5296 CPx8296 CPx5296 CPx8296
(CPx) Hinged Cover w/ -0 co0sc |CPx8296C  |CPx5296C  |CPx8296C  |CPx5296C  |CPx8296C
Double 92 x 92 Cutout
(CPx) Screwed Cover
(C0) Screwed Cover — INA CPx8496 N/A CPx8496 N/A CPx8496
(CPx) Hinged Cover
) e S o [N CPx8496C  |N/A CPx8496C  |N/A CPx8496C
(CPT) Screwed Triple | -pre g CPT860 CPT560 CPT860 CPT560 CPT860
Blind Cover
fgﬁz)g'o':ffd Uisigle CPT560C  |CPT860C  |CPT560C  |CPT860C  |CPT560C  |CPT860C
(CPY) Screwed CPY560 CPY860 CPY560 CPY860 CPY560 CPY860
Blind Cover
(CPY) Hinged Blind Cover |CPY560C  |CPY860C ~ |CPY560C  |CPY860C  |CPY560C  |CPY860C
(CPZ) Screwed Cover CPZ5422 CPZ8422 CPZ5422 CPZ8422 CPZ5422 CPZ8422
w/ 47mm Cutout
[CRAHinged Coven CPZ5422C  |CPZ8422C  |CPZ5422C  |CPZ8422C  |CPZ5422C  |CPZ8422C
w/47mm Cutout
(PF;? Cllinfaleny PPC560 PPC860 PPC560 PPC860 PPC560 PPC860
(CPR) Adjustable CPR602 CPR802 CPR602 CPR802 CPR602 CPR802
Mounting Plate 200mm
(CPR) Adjustable CPR603 CPR803 CPR603 CPR803 CPR603 CPR803
Mounting Plate 300mm
(CPR) Adjustable CPR604 CPR804 CPR604 CPR804 CPR604 CPR804
Mounting Plate 400mm
(CPR) Adjustable CPR605 CPR805 CPR605 CPR805 CPR605 CPR805
Mounting Plate 500mm
(CPR) Adjustable CPR606 CPR806 CPR606 CPR806 CPR606 CPR806

Mounting Plate 600mm

Enclosures widths at 1000 and 1200 are currently NA

Y v




MOUNTING PROFILE

Y e

Enclosure Size

OK Mounting Profile

. . (TCK) !:ront (TCK) Side (TTK) Front (TTK) Side (STK) (STK) (DCK) Front (DCK) S.ide
Height Width or Slo!e Mountin or Slo!e Mountin Flang(?d FIanggd Mouptmg Mou.ntmg
ounting g

Depth Mounting Bracket 3 Mounting Bracket. 3 Mounting | Mounting .Proflle, 2 FTroﬁIe, 2

(mm) Bra§ket, 3 Lines, Bragket, 3 Linesl Channel Ch:ftnnel Lines 400 x | Lines 400

Lines Lines Front Side 70 mm x 70 mm
1800 x 600 x 400 |TCK601 N/A TTK610 TTK410 STK645 |STK445 |DCK607 DCK407
1800 x 600 x 600 |TCK601 TCK601 TTK610 TTK610 STK645 |STK645 |DCK607 DCK607
1800 x 600 x 800 |TCK601 TCK801 TTK610 TTK810 STK645 |STK845 |DCK607 DCK807
1800 x 800 x 400 |TCK801 N/A TTK810 TTK410 STK845 |STK445 |DCK807 DCK407
1800 x 800 x 600 |TCK801 TCK601 TTK810 TTK610 STK845 |STK645 |DCK807 DCK607
1800 x 800 x 800 |TCK801 TCK801 TTK810 TTK810 STK845 |STK845 |DCK807 DCK807
1800 x 1000 x 400 |TCKAO1 N/A TTKA10 TTK410 STKA45 |STK445 |DCKAO07 DCK407
1800 x 1000 x 600 |TCKAO1 TCK601 TTKA10 TTK610 STKA45 |STK645 |DCKAO7 DCK607
1800 x 1000 x 800 |TCKAO1 TCK801 TTKA10 TTK810 STKA45 |STK845 |DCKAO07 DCK807
1800 x 1200 x 400 |TCKCO1 N/A N/A TTK410 N/A STK445 |DCKCO07 DCK407
1800 x 1200 x 600 |TCKCO1 TCK601 N/A TTK610 N/A STK645 |DCKCO07 DCK607
1800 x 1200 x 800 |TCKCO1 TCK801 N/A TTK810 N/A STK845 |DCKCO07 DCK807
2000 x 600 x 400 |TCK601 N/A TTK610 TTK410 STK645 |STK445 |DCK607 DCK407
2000 x 600 x 600 |TCK601 TCK601 TTK610 TTK610 STK645 |STK645 |DCK607 DCK607
2000 x 600 x 800 |TCK601 TCK801 TTK610 TTK810 STK645 |STK845 |DCK607 DCK807
2000 x 800 x 400 |TCK801 N/A TTK810 TTK410 STK845 |STK445 |DCK807 DCK407
2000 x 800 x 600 |TCK801 TCK601 TTK810 TTK610 STK845 |STK645 |DCK807 DCK607
2000 x 800 x 800 |TCK801 TCK801 TTK810 TTK810 STK845 |STK845 |DCK807 DCK807
2000 x 1000 x 400 | TCKAO1 N/A TTKA10 TTK410 STKA45 |STK445 |DCKAO07 DCK407
2000 x 1000 x 600 |TCKAO1 TCK601 TTKA10 TTK610 STKA45 |STK645 |DCKAO7 DCK607
2000 x 1000 x 800 |TCKAO1 TCK801 TTKA10 TTK810 STKA45 |STK845 |DCKAO07 DCK807
2000 x 1200 x 400 |TCKCO1 N/A N/A TTK410 N/A STK445 |DCKCO07 DCK407
2000 x 1200 x 600 |TCKCO1 TCK601 N/A TTK610 N/A STK645 |DCKCO07 DCK607
2000 x 1200 x 800 |TCKCO1 TCK801 N/A TTK810 N/A STK845 |DCKCO07 DCK807
2200 x 600 x 400 |TCK601 N/A TTK610 TTK410 STK645 |STK445 |DCK607 DCK407
2200 x 600 x 600 |TCK601 TCK601 TTK610 TTK610 STK645 |STK645 |DCK607 DCK607
2200 x 600 x 800 |TCK601 TCK801 TTK610 TTK810 STK645 |STK845 |DCK607 DCK807
2200 x 800 x 400 |TCK601 N/A TTK810 TTK410 STK845 |STK445 |DCK807 DCK407
2200 x 800 x 600 |TCK801 TCK601 TTK810 TTK610 STK845 |STK645 |DCK807 DCK607
2200 x 800 x 800 |TCK801 TCK801 TTK810 TTK810 STK845 |STK845 |DCK807 DCK807
2200 x 1000 x 400 |TCKAO1 N/A TTKA10 TTK410 STKA45 |STK445 |DCKAO07 DCK407
2200 x 1000 x 600 |TCKAO1 TCK601 TTKA10 TTK610 STKA45 |STK645 |DCKAO7 DCK607
2200 x 1000 x 800 |TCKAO1 TCK801 TTKA10 TTK810 STKA45 |STK845 |DCKAO07 DCK807
2200 x 1200 x 400 |TCKCO1 N/A N/A TTK410 N/A STK445 |DCKCO07 DCK407
2200 x 1200 x 600 |TCKCO1 TCK601 N/A TTK610 N/A STK645 |DCKCO07 DCK607
2200 x 1200 x 800 |TCKCO1 TCK801 N/A TTK810 N/A STK845 |DCKCO07 DCK807

Y v




MOUNTING PROFILE CONTINUED

1y L

Enclosure Size OK Mounting Profile
(SCK) Closed-End (SCK) Closed-End
Height Width Depth | Mounting Channel Mounting Channel (STA) Vertical | (STF) Vertical (SQK)
(mm) Front Mounting Side Mounting Profile Mounting Mounting Bracket
Profile H = 45 Front H = 445 Side
1800 x 600 x 400 SCK607 SCK407 STA1800 STF1800 SQK380
1800 x 600 x 600 SCKé607 SCK807 STA1800 STF1800 SQK380
1800 x 600 x 800 SCK607 SCK807 STA1800 STF1800 SQK380
1800 x 800 x 400 SCK807 SCK407 STA1800 STF1800 SQK380
1800 x 800 x 600 SCK807 SCK607 STA1800 STF1800 SQK380
1800 x 800 x 800 SCK807 SCK807 STA1800 STF1800 SQK380
1800 x 1000 x 400  [SCKAOQ7 SCK407 STA1800 STF1800 SQK380
1800 x 1000 x 600  [SCKAO7 SCK607 STA1800 STF1800 SQK380
1800 x 1000 x 800 SCKAOQ7 SCKé607 STA1800 STF1800 SQK380
1800 x 1200 x 400 SCKCO07 SCK407 STA1800 STF1800 SQK380
1800 x 1200 x 600 SCKCO07 SCK607 STA1800 STF1800 SQK380
1800 x 1200 x 800 SCKC07 SCK807 STA1800 STF1800 SQK380
2000 x 600 x 400 SCKé607 SCK407 STA1800 STF1800 SQK380
2000 x 600 x 600 SCKé607 SCK607 STA1800 STF1800 SQK380
2000 x 600 x 800 SCK607 SCK807 STA1800 STF1800 SQK380
2000 x 800 x 400 SCK807 SCK407 STA1800 STF1800 SQK380
2000 x 800 x 600 SCK807 SCKé607 STA1800 STF1800 SQK380
2000 x 800 x 800 SCK807 SCK807 STA1800 STF1800 SQK380
2000 x 1000 x 400 [SCKAO07 SCK407 STA1800 STF1800 SQK380
2000 x 1000 x 600  [SCKAO7 SCK607 STA1800 STF1800 SQK380
2000 x 1000 x 800 [SCKAO07 SCK807 STA1800 STF1800 SQK380
2000 x 1200 x 400  [SCKCO07 SCK407 STA1800 STF1800 SQK380
2000 x 1200 x 600  [SCKCO07 SCKé607 STA1800 STF1800 SQK380
2000 x 1200 x 800  [SCKCO07 SCK807 STA1800 STF1800 SQK380
2200 x 600 x 400 SCKé607 SCK407 STA1800 STF1800 SQK380
2200 x 600 x 600 SCKé607 SCK607 STA1800 STF1800 SQK380
2200 x 600 x 800 SCK607 SCK807 STA1800 STF1800 SQK380
2200 x 800 x 400 SCK807 SCK407 STA1800 STF1800 SQK380
2200 x 800 x 600 SCK807 SCKé607 STA1800 STF1800 SQK380
2200 x 800 x 800 SCK807 SCK807 STA1800 STF1800 SQK380
2200 x 1000 x 400  [SCKAOQ7 SCK407 STA1800 STF1800 SQK380
2200 x 1000 x 600  [SCKAO7 SCK607 STA1800 STF1800 SQK380
2200 x 1000 x 800 [SCKAOQ7 SCK807 STA1800 STF1800 SQK380
2200 x 1200 x 400  [SCKCO07 SCK407 STA1800 STF1800 SQK380
2200 x 1200 x 600  [SCKCO07 SCKé607 STA1800 STF1800 SQK380
2200 x 1200 x 800  [SCKCO07 SCK807 STA1800 STF1800 SQK380

Y



MOUNTING PROFILE CONTINUED

TR i i e i i e i

Enclosure Size OK Mounting Profile
(MTK) (MTK)
. . (CPP) (CPP) (CPP) (CPP)
Height Width Depth | DIN RAIL DIN RAIL (CPP) DIN
(mm) Support L Support L DIN RAIL RAIL 270 DIN RAIL | DIN RAIL | DIN RAIL

600mm 800mm 170mm 370mm 490mm 690mm

1800 x 600 x 400 MTK600 MTK600 CPP344 CPP444 CPP544 CPP644 |N/A
1800 x 600 x 600 MTK600 MTK600 CPP344 CPP444 CPP544 CPP644 |N/A
1800 x 600 x 800 MTK600 MTK600 CPP344 CPP444 CPP544 CPP644 |N/A
1800 x 800 x 400 MTK800 MTK800 CPP344 CPP444 CPP544 CPP644 |MTK800
1800 x 800 x 600 MTK800 MTK800 CPP344 CPP444 CPP544 CPP644 | MTK800
1800 x 800 x 800 MTK800 MTK800 CPP344 CPP444 CPP544 CPP644 |MTK800

1800 x 1000 x 400 N/A N/A N/A N/A N/A N/A N/A
1800 x 1000 x 600 N/A N/A N/A N/A N/A N/A N/A
1800 x 1000 x 800 N/A N/A N/A N/A N/A N/A N/A
1800 x 1200 x 400 N/A N/A N/A N/A N/A N/A N/A
1800 x 1200 x 600 N/A N/A N/A N/A N/A N/A N/A
1800 x 1200 x 800 N/A N/A N/A N/A N/A N/A N/A

2000 x 600 x 400 MTK600 MTK600 CPP344 CPP444 CPP544 CPP644 |N/A
2000 x 600 x 600 MTK600 MTK600 CPP344 CPP444 CPP544 CPP644 |N/A
2000 x 600 x 800 MTK800 MTK600 CPP344 CPP444 CPP544 CPP644 |N/A
2000 x 800 x 400 MTK800 MTK800 CPP344 CPP444 CPP544 CPP644 |MTK800
2000 x 800 x 600 MTK800 MTK800 CPP344 CPP444 CPP544 CPP644 | MTK800
2000 x 800 x 800 MTK800 MTK800 CPP344 CPP444 CPP544 CPP644 |MTK800

2000 x 1000 x 400 [N/A N/A N/A N/A N/A N/A N/A
2000 x 1000 x 600  [N/A N/A N/A N/A N/A N/A N/A
2000 x 1000 x 800  [N/A N/A N/A N/A N/A N/A N/A
2000 x 1200 x 400  [N/A N/A N/A N/A N/A N/A N/A
2000 x 1200 x 600  |N/A N/A N/A N/A N/A N/A N/A
2000 x 1200 x 800  [N/A N/A N/A N/A N/A N/A N/A

2200 x 600 x 400 MTK600 MTK600 CPP344 CPP444 CPP544 CPP644 |N/A
2200 x 600 x 600 MTK600 MTK600 CPP344 CPP444 CPP544 CPP644 |N/A
2200 x 600 x 800 MTK600 MTK600 CPP344 CPP444 CPP544 CPP644 |N/A
2200 x 800 x 400 MTK800 MTK800 CPP344 CPP444 CPP544 CPP644 |MTK800
2200 x 800 x 600 MTK800 MTK800 CPP344 CPP444 CPP544 CPP644 | MTK800
2200 x 800 x 800 MTK800 MTK800 CPP344 CPP444 CPP544 CPP644 |MTK800

2200 x 1000 x 400  [N/A N/A N/A N/A N/A N/A N/A
2200 x 1000 x 600  [N/A N/A N/A N/A N/A N/A N/A
2200 x 1000 x 800  [N/A N/A N/A N/A N/A N/A N/A
2200 x 1200 x 400 N/A N/A N/A N/A N/A N/A N/A
2200 x 1200 x 600 N/A N/A N/A N/A N/A N/A N/A
2200 x 1200 x 800 N/A N/A N/A N/A N/A N/A N/A

Y v



ACCGESSORIES & HARDWARE

THay i

Part Number Description

BCK100-M Door Block Kit

BCO110-M Door Stop Kit 90 - 120 Degree

BCO170-M Door Stop Kit

CAP180C Hinge Kit 180 Degree

CAP180E Hinge Kit 180 Degree

CAP180I Inner Door Kit 180 Degree

CLKO13-KIT2F Mounting clips M6 Hex Nut (Pkg. 12)
CPS5846 Angular Bracket For SGD Bracket

CRN200 Two Rack Hinges 180° Opening

CRN200DC Rack Hinge 180° opening Central Mounting
CSTK70 Folding Desk, 539 x 352mm w/Hardware
DTKA75 Inner Mounting 70 x 1000 mm

LIP-S Two Brackets L and R Lip Mount -Inner folding Desk
MIC250 Switch - Door Switch

MIC250-S Door Switch Bracket

PPK100 Subpanel Mounting Hardware Kit

PTR600P Transformer Support for 600 mm

PTR681 Rolling Screw For Transformer Support (4Pcs)
PTR800P Transformer Support w/Threaded Inserts 800mm(2Pcs)
SGDO060 DIN RAIL Support Bracket 60 mm

SGD150 DIN RAIL Support Bracket 150 mm

SGK060 DIN RAIL Regulation Bracket 60 mm

SGK150 DIN RAIL Regulation Bracket 150 mm
SRR773B Enclosure Latch Handle, Foldaway




OK SERIES FASTENERS

1 iy

Part Number Description

DDM600 Flanged Nut M6 ( 100 PCS)

DDM800 Flanged Nut M8 (100 PCS)

DGM600 Cage Nut M6 (Pkg. 100)

DGM800 Cage Nut M8. (Pkg. 100)

DGM901 Outdoor Cage Nut M6 (Pkg. 100)

VBC612 Mé Torx head, T30 (KIT 100 PCS)

VBC614 Screw, M6 Torx head (Pkg. 100)

VBC616 Screw, M6 T30 Torx head (Pkg. 100)

VTC122 Screw, M12 Allen flat head (Pkg. 100)
VTD600 Mé6x8 Hex Screw w/ Flange Nut Mé (Pkg. 100)
VTD616 Mé6x16 Hex Screw w/ Flange Nut Mé (Pkg. 100)
VTD800 M8x16 Hex Screw w/ Flange Nut M8 (Pkg. 100)
VTM900 Méx14 Cross Head Screw (Pkg. 100)

VTM902 Mé6x14 Torx Head Screw (Pkg. 100)

VTM903 M8x16 Torx Head Screw (Pkg. 100)

VTM912 Mé6x50 Screw for Plinth (Pkg. 1)

VTR500 M5x12 Countersunk Bolt (Pkg. 100)

VTR506 Inner Door Special Screw (Pkg. 100)

VTR510 M5x8 Shelf Swing Screw (Pkg. 100)

VTR600 Mé6x8 Hex Flanged Screw (Pkg. 100)

VTR610 Mé6x12 Hex Countersunk Screw (Pkg. 100)
VTR616 Flanged Screw, M6 hex head (Pkg. 100)
VTR800 M8x16 Hex Flanged Screw (Pkg. 100)

VTS616 Screw, M6 pan head (Pkg. 100)

Y v



	Bookmark 1
	okktb
	PNA
	plinth Base
	DBI
	TMK
	OK Series Accessories
	stk

	Enclosure Components: 
	Subplate/general accessories: 
	Plinth: 
	Swing Panel and Rack Mount: 
	Inner Frame and Covers: 
	Mounting Profile: 
	Accessories: 


